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|X',)=cos ala,) - sin a‘a,,>
R ) R (3.26)
|7',) =sinala,) +cos a‘ay>
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|X',)=cosB|B,) - sinﬂ‘ﬂy>
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{j}’b>=sin/)’ﬁx>+cosﬂﬁv> (3:27)
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|%',)|7",) =(cos o]a,) - sin a‘a},>)(sin B|B.) +cos ,b"/)’,, >)
|7 )%,) =(sinafa, ) + cos a‘a}.>)(cosﬁ\ﬂX> - sinﬁ"ﬁy>)’
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(a)|B.) =[] )+ cos(a+p) (3.29)
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P(a.f)=Pla.,f)=5sin’(a+ p).

: (3.30)
P(a,p,)=P(a..p)= 50082(06 +B)e
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_ P(avﬁ)+P(auﬂL)_P(aaﬂL)_P(auﬁ)
B D)= ey Pla )+ Pap )+ Pap)’

#(3.30) AT
E(a,p)=sin’(a+p) - cos’(a+p)=—-cos 2(a+ ), (3.32)
B
S=|E(a.p) = E(a.p) + |E(@,p) + E(’, ')
=|=cos2(a+p)+cos2(a+p")+
| = cos2(a’+f)—cos 2(a’+ ") -
MBa=n/4.a'=0.f=-1/8 p =n/SHf,

S:‘_\f_\zﬁ’+‘—?—\2ﬁ§=2\/§>2, (3.34)
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